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QUESTION 1

Which one of the following statements is true regarding the CAPWAP tunneling protocol?
A. It is used to encapsulate data between the LWAP and the WLC.

B. It is used to encapsulate data between different standalone APs.

C. Itis used to encapsulate data between the standalone AP and the wireless clients.

D. It is used to encapsulate data between the LWAP and the wireless clients.

Correct Answer: A

QUESTION 2

Which type of attack is used to eavesdrop on a conversation between two victims?
A. distributed overflow

B. buffer overflow

C. cross-site scripting

D. man-in-the-middle

Correct Answer: D

QUESTION 3

Which two of the following statements are true regarding standalone and lightweight access points? (Choose two.)
A. Lightweight access points are self-contained, each offering one or more fully functional BSSs.

B. Standalone access points can be configured one-by-one and offer complete functionality by themselves.

C. Lightweight access points rely on a central wireless LAN controller to retrieve their configurations.

D. Lightweight access points are also known as autonomous access points.

Correct Answer: BC

QUESTION 4
Which is not a valid Windows operating system version?
A. Windows 10

B. Windows 9
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C. Windows 8.1

D. Windows 8

E. Windows 7

F. Windows Server 2012
G. Windows Vista

Correct Answer: B

QUESTION 5

Which of the following is an example of a data loss prevention solution?
A. Cisco Advanced DLP

B. Cisco CloudLock

C. Cisco Advanced Malware Protection (AMP)

D. Cisco Firepower 4100 appliances

Correct Answer: B
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